Construction begins on Bloodhound supercar
http://www.bbc.co.uk/news/science-environment-12383551 

TASK 1

Watch the video right through. Then listen again and fill in the blanks in this summary. The canopy is the removable covering above the place where the pilot or driver sits in a plane or car. Thrust is the force pushing a vehicle forwards:

The Bloodhound SSC has been designed to travel at __1000___ miles per hour and to make children more interested in engineering and ___science__. The air is __slowed__ down by 
the canopy over the driver’s head before it enters the jet engine. This engine produces __9__ tons of thrust and the rocket below it produces ___12___ tons. The car will reach a speed of ___1000__ m.p.h. in ___45___ seconds and is ___180____ times more powerful than a Formula 1 racing car.
TASK 2
Now listen again while you read the text and fill in the missing words.
This is a tremendously _exciting__ day for us. This for the first time we’re unveiling the public shape of Bloodhound SSC. This is the final shape that will take this car and this team through to 1000 miles an hour, part of the engineering _adventure__ that’s going to inspire a whole generation of young people with the excitement of engineering and science and seeing this, this is the excitement we’ve got. This is my office, this is where I’m going to sit when we accelerate the car to 1,000 miles an hour. It’s going to be very small, it’s cramped, hot and incredibly _noisy__. Just above my head is the jet intake, the canopy creates the shock wave to slow the airflow down into that jet intake. Coming back down the car, we have two power-plants bedded in this car, one of which is the EJ200 from the Eurofighter Typhoon and below that the Falcon rocket. The jet at the top is producing 9 tons of thrust. The rocket below it is producing an additional 12 tons of thrust. That is a _total__ of 135,000 horsepower, which will accelerate this car from stationary to 1,000 miles per hour in 45 seconds. Put it another way, it’s got 180 times the power of a Formula 1 car, or 18 times the power-to-weight ratio of a Formula 1 car. That’s where it gets its incredible performance from and what makes it all _possible_ is the technology, not just behind these power plants but behind the key bits of aerodynamics to keep the car on the ground – Intelesar, IT partner, has given us an incredible amount of computer power, which Swansea has used to do all the aerodynamic modeling. That will keep this on the car, that’s _fixed_ the back shape of the car. The other thing these wheels need to do is stay together at 1,000 miles per hour. They’ll be rotating at 10,000 rotations a minute. The wheel rims here will be pulling 50,000 times the force of gravity. And Lockheed-Martin have given us the expertise and the analysis _skills__ to be able to design a shape that will stay together at 50,000 g. That’s the sort of loads and speeds we’re talking about to take this car to 1,000 miles an hour. 
TASK 3

Match the words with the right meanings:

tremendously
6



1. not moving
unveiling
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2.turning round

inspire
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3. edges (especially of something circular)
cramped

9



4. unbelievable
additional
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5. very important
accelerate
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6. enormously, greatly
stationary

1



7. uncovering 
incredible
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8. give someone the idea and the wish to achieve
key


5



9. without space to move easily
aerodynamics
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10. extra

rotation

2



11. increase speed

rim


3



12. the study and control of air flows
TASK 4
Answer the following questions:

1. Why will the driver of the car be uncomfortable?
  Because the place where he sits is hot, cramped and very noisy
2. What is the total thrust produced by the two engines?

  12 tons
4. How many times would the wheels go round if the car traveled at 1,000 m.p.h for five minutes?

  250,000 times
3. The speaker mentions two dangers which the car has to be protected from. What are they?

  The car might take off like an aeroplane or the wheels might fall apart.
TASK 5

Imagine that you are the driver of the car and have just broken the world speed record. Tell your partner what happened during the drive and how you felt. Then write your account in 110 to 150 words.

This is a tremendously exciting day for us. This for the first time we’re unveiling the public shape of Bloodhound SSC. This is the final shape that will take this car and this team through to 1000 miles an hour, part of the engineering adventure that’s going to inspire a whole generation of young people with the excitement of engineering and science and seeing this, this is the excitement we’ve got. This is my office, this is where I’m going to sit when we accelerate the car to 1,000 miles an hour. It’s going to be very small, it’s cramped, hot and incredibly noisy. Just above my head is the jet intake, the canopy creates the shock wave to slow the airflow down into that jet intake. Coming back down the car, we have two power-plants bedded in this car, one of which is the EJ200 from the Eurofighter Typhoon and below that the Falcon rocket. The jet at the top is producing 9 tons of thrust. The rocket below it is producing an additional 12 tons of thrust. That is a total of 135,000 horsepower, which will accelerate this car from stationary to 1,000 miles per hour in 45 seconds. Put it another way, it’s got 180 times the power of a Formula 1 car, or 18 times the power-to-weight ratio of a Formula 1 car. That’s where it gets its incredible performance from and what makes it all possible is the technology, not just behind these power plants but behind the key bits of aerodynamics to keep the car on the ground – Intelesar, IT partner, has given us an incredible amount of computer power, which Swansea has used to do all the aerodynamic modeling. That will keep this on the car, that’s fixed the back shape of the car. The other thing these wheels need to do is stay together at 1,000 miles per hour. They’ll be rotating at 10,000 rotations a minute. The wheel rims here will be pulling 50,000 times the force of gravity. And Lockheed-Martin have given us the expertise and the analysis skills to be able to design a shape that will stay together at 50,000 g. That’s the sort of loads and speeds we’re talking about to take this car to 1,000 miles an hour. 

